Right Angle Triangle Applications_____________________

Place all diagrams and work on a separate sheet of lined paper.

1. a)  A tree casts a 25 m shadow when the angle of elevation of the sun is 360.  Calculate the height of the tree.
      b)  Calculate the length of the tree’s shadow when the angle of elevation of the sun is 580.

2. A 200 m guy wire makes an angle of 370 with the top of a radio tower.  Calculate the height of the tower.

3. You are standing at the top of a gorge.  The angle of depression to the base of the opposite side is 540.  The sides of the gorge are 120 m high.  Find the distance across the gorge.

4. A surveyor is at the top of one side of a gorge.  The angle of depression from there to the base of the opposite side is 31.50.  The gorge is 300 m wide.  How deep is the gorge?

5. A 1.8 m tall botanist is standing 8.0 m away from a tall tree.  The angle of elevation to the top of the tree is 570.  How tall is the tree?

6. A steel ramp is 12 m long and rises 3 m.  What angle does the ramp make with the ground?  Hint:  The 12 m is NOT the hypotenuse.

7. A road rises 8 m over a distance of 90 m along its surface.  At what angle is the road climbing?

8. A 5 m ladder rests against a wall, with the foot of the ladder 1.5 m from the base of the wall.  What angle does the ladder make with the ground?

9. For a safe angle, a ladder leaning against a wall must make an angle of between 700 and 800 with the ground.  What distance from the base of a wall can the foot of a 10 m ladder be placed in order for it to be safe?  Hint:  you need to solve two triangles, one with a 700 angle at the ground and the other with an 800 angle at the ground.  
_____________________________________________________________________________

Answers

	1.
	18 m, 11m

	4.
	183.8 m
	7.
	50

	2.
	160 m

	5.
	14.1 m
	8.
	730

	3.
	87 m
	6.
	140
	9.
	1.7 m to 3.4 m


